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Notations:

10th Dec17 Shift 1
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1.Options shown in green color and with ¥ icon are correct.

2.Options shown in red color and with # icon are incorrect.
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Question Number : 1 Question Id : 3354726831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first Chief Justice of Madhya Pradesh? | W2 Wdar & Ugel G&J ~areiar &1 &7

Options:

1. % Justice P.V. Dixit | =T =t g
2 ¥ Justice M Hidayatullah | =Imgid on Bemgear

3. % Justice H. ] Kania | ~ITemid 0= = HTH
4. ¥ Justice Ajay Manikrao Khanwilkar | =T s ST SHiEmes

Question Number : 2 Question Id : 3354726832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which is the space shuttle in which the Indian-born astronaut Kalpana Chawla went into space for the first

tme? | ART B AT Sl T FedT AT Ul a (o Sy I | sy o mE ot
Options:

1. % Columbia | &=

2. % Discovery | Zemacr

= % Enterprise | UedEA
4. ¥ Atlantis | aEATT

Question Number : 3 Question Id : 3354726833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
who established the four Mathas in the four corners of India? | ART & TR FETH 7 75 TFg- wnuT ==y

Options:

1. ¥ Famkrishna Faramrhansa | YRS WHEE

2 ® Swarmi Vivekananda | T Ee@Eg

=. % Shankaracharva | SRR

4, % Swami Davanand Saraswati | T STE aeead

Question Number : 4 Question Id : 3354726834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“World Cancer Day’ is celebrated on
AT AT 81

Options:

1. % 4th February | 4 Beaa
2. % Sth February [ S Beadl
% % Gth February| 6 Har
4. % 7th February | 7 Beadl

Question Number : 5 Question Id : 3354726835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which formeg@rtsperson was appointed as the most recent Sports Minister of India? | 510 &1 # T 4= a=T
T ARG o Wl AT & & | g o = ar?

Options:
1. % virendra Sehwag |
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10th Dec17 Shift 1

2. ¥ Rajyavardhan Singh Rathore | Taea g e
% % Gautam Gambhir | TR THT

4. % Saina Nehwal | GEAT A5dTA

Question Number : 6 Question Id : 3354726836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following states will host the National Games of India in 20197 | FeET g s AT
2019 H IR & TP WeAl &l BT BT?

Options:
1. % pssam | S9H
2 % andhra Pradesh | &7 naar

% % Harvana | gitzmm

4 % Maharashtra | AgRTE

Question Number : 7 Question Id : 3354726837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many languages appear on & new Five Hundred Rupee Note, apart from Hindi and English? | Ty | #0727
T AT O TR Ul ST g SR fode T W Wi g 87

Options:

1. % 14

2 ® 20

3 % 53

4 % 15

Question Number : 8 Question Id : 3354726838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is the eastern most state of India? | FREET & & 97T =7 G G5 779 &1 9787

Options:

1. % Assam | e@H

2. % Nagaland | Ao

=, % arunachal Pradesh | S0 054
4. ¥ Mizoram | iR

Question Number : 9 Question Id : 3354726839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where in India is the National Sports Museurm going to be established? | ¥RT # TP W7 GUETAT gl w0 fomar

Options:
1. % Patiala | iE=maT

2. % Bangalore | &AR

Z. % Hyderabad | Zatems
4, % MNew Delhi | 2 T&wel

Question Number : 10 Question Id : 3354726840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

What is ‘Jaya Samhita’ better known as? | ‘T GlgdT @ &5d¢ [9d &0 H FHT AT9T7 57
Options:

1. % Mahabharat | AETRT

2. % Ramavan | TTHT

3 ® Samaved | gWdg

4. # Rigved | TS

Question Number : 11 Question Id : 3354726841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fani Durgawati i5 associated with_____ T gmeEt EEEIECE

Options:

1. % Rewa | TG

2. % Gualior | e
Z. % Panna | ugr

4 ¥ Jabalpur | FEAqT

Question Number : 12 Question Id : 3354726842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is the Security Paper Mills located in Madhya Pradesh? | A2 nea § wiayid & #REHT F51 [€0h a7
Options:

1. % Hoshangabad | Siammane

o ® Dewas | 29
2. ® Gumalior | AT
4 % Dhar | 91X

Question Number : 13 Question Id : 3354726843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The district head quarters of Sirgrauli 15 situated in

Options:

1. ¥ Waidhan | 429

2. % Singrauli Nagar | TRl 2%
3 % Sarai | W

4. % Chitranji | =T

Question Number : 14 Question Id : 3354726844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where in Satna is the Gola Math situated? | T3T | AT A5 FgT 9T 57

Options:

1. % Maihar | 5%

2. % Nagod | AmiE

2. ® Paran | UNA

4 % Raghuraj Nagar | T AT
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Question Number : 15 Question Id : 3354726845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the group of 22 temples, dating frorm the Sth to the 12th centuries, situated in Morena? | AT H S &

128 Tt & SR 22 ATl %7 90g g a7
Options:

1. % MNaresar | Tdv

2. % Joura | SRT

3 % Jawia | SicET

4 % MNoorabad | TET

Question Number : 16 Question Id : 3354726846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Narme the mountain range in Hoshangabad. | glammene # TE8e w&da agarst & 9 a9

Options:
1. % vindhya | e
2. % Aravali | eRTEAT

2. ¥ Satpura | dYST
4 % Maikal | B

Question Number : 17 Question Id : 3354726847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

O the bank of which river is town of Balaghat situated? | T 921 & 92 O STATIIE &7 57 69T &7
Options:

1. ¥ Narmada | 98T

2. ¥ Wainganga | $97T

% % Shipra | famT

4 % Betwa | dqdr

Question Number : 18 Question Id : 3354726848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ’Sr::uut# Asian Speakers' Surnmit 2017 was organized at ________ .| SET utdeng e iR aved 2017
TI=IT &M

Options:
1. % Nagpur | 90T
2 % Jaipur | SO

3. ¥ Indore | 2310
4 % Raipur | 9T

Question Number : 19 Question Id : 3354726849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The river that separates the western and eastern part of the Gandhisagar sanctuary is

S OTRENTY ST e AT T Sre e AT S B

Options:
Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

1. % Chambal | Z=d
= ® Ken | o




2. % son | @M
4 % Yarruna | TEAT
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Question Number : 20 Question Id : 3354726850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first state in India to enact a law on Public Services Delivery Guarantee is

FIA AT o T AT | O T
Options:

1. ® sikkim | TR

2. % indhra Pradesh | 3T W2
3. ¥ Madhya Pradesh | 7T 0o
4. % Odisha | sfEam

______ &

Ceneral Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

335472204
2

Online
Mandatory
20

20

20

Yes

No

1
335472204
Yes

Question Number : 21 Question Id : 3354726851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The sum of 2 numbers is 204, RBatio of first to second is 2:2 and the ratio of second to third is 5:2. Then the

second number is: | 3 HEqTE BT AEA 204 31 W0 @7 G # argue 203 § o T o7 g @ argue 5:3 71 at gl

E?E_QT%‘:
Options:
1. % 80

o ® 54
3 % 102
4 % 90

Question Number : 22 Question Id : 3354726852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The square is 6 x 6 and all the strips are of equal width 1 unit. The fraction of the square shaded black
is_ /a6 x6F & 3R el ufzar 1 S5 & auaw T FT &1 F=oifed Hrer @i &1
Far &l

=1

Options:

Question Number : 23 Question Id : 3354726853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fill in the blanks: / R&d T o

H+Tx+12=  (xt4)
Options:
1. % x-4
o % y-3
3 ¥ x+3
4 % 344

Question Number : 24 Question Id : 3354726854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

From the set of numbers {2, 2. 5, 6, 8, 9, 11, 12} we need to select 4 numbers whose SuITl 15 21. Find the
largest nurnber that can be a mermber of such 4-element set. | {2, 3,5, 6, 8, 9, 11, 12} Tl & G5z 4 74 4
HEATET T 22 HAT 5 FRT DEA 21 21 39 SATErhd i ST ®i AT @ A 26 4 TeTa! & gD #1 qa6d 5l a8l

Options:
1. % 12
2 % g
3 %7
4 ¥ 11

Question Number : 25 Question Id : 3354726855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A right circular cylinder has base circumference of 44 crn. If the height is double the radius, then the wolume

is___. | I oe i1 S T ST Uieter 44 St 81 At Some, Fear S gt 8, ar emee ______ Fimm
Options:

1. ¥ 2156 litre | 2156 #feY

2. % 2156 litre | 215.6
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3. % 2 156 litre | 2. 156 oY
4 % 02156 litre | 0.2156 #eT

Question Number : 26 Question Id : 3354726856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By what should 75 be multiplied to get 727/ 729Ttd &l o o0 75 @l fohder & o Tehar

SATAT = EE’?
Options:
p % 7

1

4
2.&“?

Question Number : 27 Question Id : 3354726857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Solve: | T T

i+ ____) = Sma+mb+Sna+nb
Options:

1. Sa+b

2 % ca-b

3 % a+5b

4 % 3-5b

Question Number : 28 Question Id : 3354726858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | sfi&a e

17, 76, 24, 45, 13
Options:
1. % 33
o % 34
3. ¥ 35
4 % 35

Question Number : 29 Question Id : 3354726859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Latest Sarkari Jobs, Govt Exam Results, m
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The students in a class took a Math test. Two-thirds of the boys and % of the girls passed the

test. [tis noticed that an equal number of bovs and girls passed the test. What is the minimum

possible number of students in the class? / Tdh @Rl H ﬁﬂ:ﬂﬁ?ﬂ' o ATOTT &k 9LETT 2l
or-fagrs et 3R %agwmﬁwar—rﬁv‘raﬁﬁn o &@r T & TR esd 3R

eTsfhal & atey AT of GBI 3cdol $r| HaT 7 et f =geran afad
HEIT 41 grafe

Options:
1.9 17
2 %12
3 % 34
4 % 24

Question Number : 30 Question Id : 3354726860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A train which is 150 m long passes through Raj travelling at a speed of 36 km/hr. How long will it take for it to
passﬁlﬂ;ﬁg'l? | U tETIS T A o 150 BT wel 3, 36 Terdt) O O G @ etd §U TR 1 U A 1 5] T i O e § g T
T

Options:
1. % 20sec | 20 GgrE
o % 18sec | 158 90
3. ¥ 15 sec | 15 dgns
4 % 123zec | 12 9@

Question Number : 31 Question Id : 3354726861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The big triangle is equilateral with area 18 sqg.cm. The 3 lines are parallel to the sides trisecting

the sides. The shaded areais ./ &3T THI0T T SESCL % fogeT &15he 18 g1 TAT %I
3 Y@IT g3 T ARG X §5 43T & AR §1 Hreoied aane
el

Options:

1. % §sg.cm | & arf Jut
2. % 9sg.om |9 g
3 % 11sg.cm ) 11 =nf &Af
4 9 12 sq.cm | 12 =07 ST
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Question Number : 32 Question Id : 3354726862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of students who opted for IT courses decreased by 23%. If the number is 1540 at present, then
the original nurmber of students opting for IT course was: | UTERIGRHT o1 T2 el ATt BT 1 gear § 23% i
FHT T8 71 AT TFH B F TEA7 1,540 8, TT STECT UTSIH AT T 2 Feel qTel T 1 He deear &

Options:
1. % 1600

= % 1800
= & 2000
4 ® 2200

Question Number : 33 Question Id : 3354726863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Five vears ago, the respective ratio of the ages of ¥ and ¥ was 6:5. 10 vears hence, the ratio of their ages will

be 8:7. What is V's present age? | U o4 qd, ¥ oY &1 7T 7 Faled e 6:5 @M 10 T4 ward, ST A1 % 0T
8.7 BT Y T ad A S T 57 ® o o

Options:

1. % 25 vyears | 25 a9
2. % 30 vears | 30 99
% % 35 vears | 3599

4. ¥ None of the above | I0% # & ®1E T51

Question Number : 34 Question Id : 3354726864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the length of a rectangle whose breadth is 11 cm such that the area of this rectangle is same as the

area of a circle with diameter 14 cm? | 11 S0 SSTE & TIT T 7RIS FAT ST @ 8305 14 SH e F ga &
HATRA o A &7

Options:
1.9 140m

= % 15cm
= % 16cm
4 ® 17cm

| 14 &HT
[ 15 &dt
| 16 &HT
{17 &

Question Number : 35 Question Id : 3354726865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the square of the cube of 67 | & & 9 &7 a1 F4T 57

Options:

1 % 6

Latest Sarkari Jobs, Govt Exam Results, m
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4 % 6

Question Number : 36 Question Id : 3354726866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If two supplementary angles differ by 20 degree, then the smaller of the two angles is____. | T4 & W B0 &
e 20 TET @7 2T & 97 A ® vl # Ay

Options:
1. % g0
2. ¥ 80
3 % 100

4. % None of the above | Iud® & & ®1E T51

Question Number : 37 Question Id : 3354726867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I£ 4320 = 29 x 3 % 5 _ then find the value of a_band c. /TR 4320= 2937 x5 @T a b

3R ¢ &1 AR A F:I
Options:

1. % 3=5b=3c=2

2 % a=4 b=3c=2

3. ¥ a=5 b=3c=1

4. % 3=4,b=3,c=1

Question Number : 38 Question Id : 3354726868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the value c:fx.n'{l_5+~\|'{§—5? / «,u'{l_6+x.u'{§—5 &1 HIA F=T %?

Options:
1.2

o #® 3
o o4
4 % g

Question Number : 39 Question Id : 3354726869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The total sum of angles in the polvgon is:,-"ﬁ_‘E;"Ein #H FHIO &I Dol ARTRA &

Options:
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4 1080°

Question Number : 40 Question Id : 3354726870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& Pox contains 15 cards bearing numbers 1, 2, 3, 15, A card is drawn at randorn from the box. What i3
the probability that number on the card is a prime number? | 0 f2ed 7 15 LA R L ) ., 15 ¥ 81
sl H & ATgfeud T 9 U Wl fHeRTeT SF’&% T2 72T & T2 O O Terd ST U ST S 2
Options:
1. % 172
2 % 35
3 ¥ 25
4 % 13
Ceneral Hindi

Section Id : 335472205

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472205
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A T aTAT e & -
Options:

1. % aww

2 &

. ® g
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4 & 1A

Question Number : 42 Question Id : 3354726872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T auT o SER § W g 9T FH G AT 57
Options:

1. ® amam

2. % mEmmT
2. ¥ STEm

4. % Sy

Question Number : 43 Question Id : 3354726873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T ¥ -

Options:

1.¥%

o %3

3 %3

4 %17

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 44 Question Id : 3354726874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g T=3 F -
Options:

1. ¢ T

2 % T

=z ¥ g
4 ® ag

Question Number : 45 Question Id : 3354726875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
a1t o Oe | g e et __ CECI

Options:
1. & v |t

o % oI i
3. ® grr
4 % g

Question Number : 46 Question Id : 3354726876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ty W UTaaE g # ' w6 a7
Options:

1. ¢ o

Latest Sarkari Jobs, Govt Exam Results,
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2. #® AT
z. % gmw
4. % qigwm

Question Number : 47 Question Id : 3354726877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AN FI-FF AFGTE" & Tordl UF =g, 9 H T F I AT 27

Options:

1. % gam
2 % mar

3. % gafror
4 ¢ &g

Question Number : 48 Question Id : 3354726878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o w7 AT iege P A S @ AT E?

Options:

1. % fag+ane
2. % T+
3 ¥ T+ame

4. % fT+wue

Question Number : 49 Question Id : 3354726879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A T A Jeg FE AT T ATE?

Options:

1. % Aregw
2 % 7T
3. v og

4 % gz

Question Number : 50 Question Id : 3354726880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ry St € o geg PR H # @ AT Y

Options:
1. T

> % Fafy
3 % fiy
4 % Fghy

Question Number : 51 Question Id : 3354726881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“TETAT-41T STeg # T8 | & T A7 T79 57

Options:
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Question Number : 52 Question Id : 3354726882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T w7 g ©0 T & T ETR?

Options:
1. T

= % offzEr
3 % ofta
4 ® TEgT

Question Number : 53 Question Id : 3354726883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘g W g T M H H R AT e
Options:

1. % gar

2 % g5

3 % grE

4 ¥ gg

Question Number : 54 Question Id : 3354726884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“FIg T W AR 9T 50 & A | 57
Options:

1. % gmy

2 ® qiw

3. v @iy

4. % g

Question Number : 55 Question Id : 3354726885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

gﬁﬁnﬁrﬁﬁﬁ?m HeTeh Hiehd GHF AT
I AT SR 3] Wl ey -?

Options:

1. ¥ SIUTE STR®
2. ® iEdHe SEEw
3. ¥ Hif SEa
4. ® IHF AR

Question Number : 56 Question Id : 3354726886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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YT B S AT TE AT T TFH 51T 31 5 ST g H Te0T T deg &1 DA Jeg a5y, e K = # @51

Options:

1. ¥ wgEmr
2 % e
3 % argamET
4. & Teoy

Question Number : 57 Question Id : 3354726887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Forerer AT I AT RN 59 UF ded # T g -
Options:

1. % s

2 % sy
= ¢ arigd
4 % wiw

Question Number : 58 Question Id : 3354726888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T & 27T SUE AT Jal g g -
Options:

1. % sigewear

2 % gy

3 % ey

4. ¢ Furzmy

Question Number : 59 Question Id : 3354726889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T TIRE §FT - 3 T W @ AT a7
Options:

1. % Frenle

2 ¥ gETarT
3. % anEmEmEg
4. % yuferer

Question Number : 60 Question Id : 3354726890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“ifce @7 AAM-Tog a913m
Options:

1. % TR 37T 4w

2. TIIie T erR0T T AT (g

3. ® e @t e arar
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Fural Econorry and Panchavati Eaj

Section Id : 335472206

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472206
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The main function of Technical Support Group at Panchavats is ______ | T H Tt HEraaT S W e

_______ @

Options:
1. ® Supervise the works | T @1 T 0T FAT

2. % Arrange money | @ E SOEET FAT
3. ® Give report | TeOid 247
4. ¥ Assist in developrnent plan preparation | @ T $07 F0- § 56T FAT

Question Number : 62 Question Id : 3354726892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who furctions as the Chief Executive Officer of Janpad Panchayat? | J90g UoTad & JET BTUEWT SATerdel & &7
T FT FEAT 27

Options:

1.p % Chairperson of the Janpad Panchayat | F=0g U=ITad &7 a1y
2. ¥ in official of the State government | T4 TGLHET & UF ATIHENT
3. % A Member of Legislative Assembly | Term= &7 &7 UF d2e

4. % Secretary of the Fanchavat | T=d &1 A

Question Number : 63 Question Id : 3354726893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which armong the following is NOT a major fruit crop of Madhya Pradesh? | FafeiEd # @ @1 a1 Ue 727 7 &1
T e ol &7

Options:

1. ¥ Grapes | aA%

2. % Crange | g

% % Papaya | 4T

4 % Banana | o

Question Number : 64 Question Id : 3354726894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : Ngm@
Latest Sarkari Jobs, Govt Exam Results, m
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Correct: 1 Wrong: 0

which cne of the following is a commercial crop? | FEmET # 9 19 S B cOaT2w B o7
Options:

1. % Wheat | Tg

2 % Rice | Taw

3. % Maize | AgT

4. ¥ Cotton | F9H

Question Number : 65 Question Id : 3354726895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who ameng the following recormmends the Mmlmum Support Prices MSF) and issue prices for paddy and
wheat? | FRERET § € B9 gHam aue= gr (Tt T FRAT & 1% eI U 11 & ol e ST et o
Options:

1. ¢ Commission for Agricultural Costs and Prices | F9 @7d Ud G & 017 T

2 % MNABARD | 9ETE

% % Ministry of Agriculture & Farmers' Welfare | S e T Feam #3600
4. % NITI Adayog | A smam

Question Number : 66 Question Id : 3354726896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the percentage of work reserved for women under MGNREEGS? | MGINEEGS (H4T & 2faTia AfgaTa! & foT

Options:

Question Number : 67 Question Id : 3354726897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Ashok Mehta cormmrmittee on Panchavati Baj was appointed by the

The 2 oo panct government. | T T T T S8
A ®______ AT EIRT T 2m

Options:
1. % UP4 | iy
2 % NDA | TAEMT

= % Congress |
4 ¥ Janata | J=47T

Question Number : 68 Question Id : 3354726898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Primary Sector of the Economy is related to

Options:
1. % Agriculture | F
2. % Manufacturing | Fe0TEA

= # Information Technolog

Latest Sarkari Jobs, Govt Exam Results,
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4, % Transportation | TiRagE

Question Number : 69 Question Id : 3354726899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ThE: Ealwant Eai Mehta CDI'HI'ﬂittEEE 21| gested ﬂl'lElt the structure of PE.HCHE.}?EI.ti R'.El_j should consistof ____ l
TAGT 112 Hgd T FHeT = g T T BT H _____
Options:

1. # the village, the district and the state levels | T, FaT 3 U770 @7

2. # the village, the mandals, the district and the state levels | TH, A2, M7 Y =9 #9¢
= ¥ the village, the block and the district level | T, T2 3 a7 #7970

4 # the mandals and the district level | T=a &% FaT 97

Question Number : 70 Question Id : 3354726900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following irrigation projects is NOT located in Madhya Pradesh? | Fafeiea & & w19 of feRm
=T T2 near o e -1eT &

Options:

1. ¥ Banlki | @&

2. % Barna | =@

3. % Indira Sagar | STt GO
4. % Ban Sagar | 99 90W

Question Number : 71 Question Id : 3354726901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_entral assistance to Madhya Fradesh under Shyarmna Prasad Mulkherjee Rurbarn Mission for the veéar 2017-18

iﬁ?gﬁ%%een _____ a9 2017-18 o TolT STAT WETE GE Eaid T o SfaTid HeT Wo i HE 4 TE gl 1 derad T

Options:

1. % Rs. 185-190lakhs | 185-190 &M &7
2. % REs. 191-195 lakhs | 191-195 @/ &40
3. % Rs 196-2001akhs | 196-200 7T &7
4. % Rs. 201-210lakhs | 201-210 &7 &7

Question Number : 72 Question Id : 3354726902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich is the branch of science which deals with principles and practices of soil, water and Ccrop managerment?
| T T T @ | ARET B AT 2T, A 920 B Waee & Tegat Gﬂ?ﬂ%ﬁlﬁlﬂﬁﬂﬂﬁﬂ'%?

Options:
1. % Horticulture | sHTEH

2. ¥ agronomy | FE-TEE
3. % Aerometry | OHqd TEEH
4. % Home Science | T TR

Question Number : 73 Question Id : 3354726903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Latest Sarkari Jobs, Govt Exam Results, m
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which one of the following is suitable for growing as a mixed crop with wheat? | FafeiaEd # & @149 g @ @wr
T waw & & # 3 o T 3ugw 87

Options:

1. ¥ Mustard | Faf

2. % Sovabean | AETEE
= # Tomato | TART

4 % Teg | I

Question Number : 74 Question Id : 3354726904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the tenure of a Panchavat? | T=ITd &1 HTHET [ha-T 5197 57

Options:

1. ® 5 years from the date of declaration of election results | g-Td FOTH 94T 517 & GRr& S af
2. ¥ S years from the date of first meeting | Tl da@ 95 a4

3. % 3 years from the date of election of chairperson | sTery & g1 @1 & & 3 a9

4. % Az decided by Gram Sabha | =87 T @67 g it e smr

Question Number : 75 Question Id : 3354726905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The amount provided by Central Gowvernment under DEDA Schermne for the vear 2016-17 is between

FT WFR 2RI 2016-17 & 7 ETHRENT TT & 5 W= @1 T8 1114
Options:

1. % Rs. 250-255 crores | 250 - 255 F08 &7

2. % Hs. 245-249 crores | 245 - 249 $S €00

3. % Rs. 240-244 crores | 240 - 244 $S ®00

4 % Rs 235-239crores [ 235 - 239 TS ®IT

Question Number : 76 Question Id : 3354726906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the prefmium payable by farmers as a percentage of annual cormrmercial or horticultural crops under
Pradhan Mantri Fasal Bima Yojana? | W= A7 Baa AT Tr-T & 2aTia et & it a2 27
TR i &7 Era niderT ST usaT &7

Options:
1. % 10%

o ® gy
3 ¥ 5%
4 #® 3y

Question Number : 77 Question Id : 3354726907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the World Bank, the per capita GDP (Morminal) of India in 201615 _____ . | Toer o W argAw, 2016 #
AT 1 i e SETR (en B

Options:

% $1863
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 78 Question Id : 3354726908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

India is NOT a member of which of the following organizations? | IRg MgAET # & o0 91767 91 Geeg A5 1 57
Options:

1. % WTO | Zergeral

2 ® G-20 [ S-20

3 ¥ G-8 | F-8

4 % BIMSTEC | Teree

Question Number : 79 Question Id : 3354726909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India’s Hurman development Index in 2015is______ | 2015 H 9 &1 A e Sewis ______ 2l

Options:

1. % 0367
= ¥ 0624
3 % 0862
4 % 0561

Question Number : 80 Question Id : 3354726910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The crop having the largest area under irrigation in India is ____. [ ¥Rg # g & @10 g6 a2 87 a6 567

B

Options:
1. ¢ Wheat | Tg
2. % Pulses | I

2. ® Rice | Tae
4. % O] seeds | Taga

Cornputer Knowledge

Section Id : 335472207
Section Number : 5

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472207
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ______ 15 code embedded in some legitimate program that is set to "explode” when certain conditions are
met. | ______ , T el WO # T FiUT #1 5iaT § = i e gt g9 W eadiE g o o S T ST g
Options:

1. ® Trap doors | 20 S

2. % Trojan horse | 25
3. ¥ Logic Bomb | T @180
4. % Virus | TR

Question Number : 82 Question Id : 3354726912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What are the two kinds of memory in a cormputer? | U T § ®i- 91 31 WFR & JART g7 87
Options:

1. % Hardware Memory and Software Memory | STeda% HHNT Td GiFaay AT

2 % Short Term Memory and Long Term Mermory | 8¢ T8 BENT U AT T8 HART

= % Arithmetic Memory and Logical Memory | 2Rf0es JANT U ATrwd JqT

4 ¥ Read only Memory (ROM) and Randorn Access Memory RAM) | OF sTHFT BRI (TH) T IS8 TFad HART ({TH)

Question Number : 83 Question Id : 3354726913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is an active cell in Excel? | Ugd 8, FaAeET § & @19 @ 0w a7 uiwca o a1 g7

Options:

1. % Current cell | #T 9
2. % Forrrla | ®IHAT

% % Range | &4

4. % Cell address | g 1=

Question Number : 84 Question Id : 3354726914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the Mail Merge functionality in MS Word used for? | UUgH 92 § 0F 0 SrAIqAFdT F1 FAT JUAT 5197 57

Options:

1. % Mail Merge is used to invoke Graail or Cutlook from MS Word. | U7 0=, TATE 92 § S0 a7 ATIeq® J& 5 &
ToIT o T T =TT 2

2. % Mail Merge is used to enter email IDs in a docurnent. | B& 74, T STHe T SHF SMEET T8 F1 o Tory fefam

ST 21
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3. ¢ Mail Merge is used to create and send bulk mail, labels and envelopes. | U T ©T JUAT e B, cleed 997
AT TR ST T U o o Toiy Teram < &1

4 % Mail Merge is used to configure Grnail or outlook with M35 Word. | B8 5= ®T JUANT SH AT ATITeE 1 THTH
TE o T FI-BIR e o Tor] T =TT 31

Question Number : 85 Question Id : 3354726915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What are the two entries needed to login a website? | UF dedge H @ w4 # o #17 JF g wiaiee smaaaew get 27

Options:

1. ® application narme, ermail [T | TOE TR 30, SH smEsT
2. % Application Narme, uSernarme | TyE s 16, I 47
3. % Username, ermail D | 7T A0, S0 sMEET

4 Usernarne, password | IFT -6, THI2

Question Number : 86 Question Id : 3354726916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one of the following is the soft copy output device? | 540 & P19 & @de T oTIeye ZaEd 57

Options:

1. % Printer | Tex

2. ¥ Monitor | AT

3. % Plotter | Uaiet

4 % Punch Card | 7 F2

Question Number : 87 Question Id : 3354726917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A alphanurmeric cormbination like “BS” in Excel would rmean a: | TFde H "BS* A0 ST & G- (STebHgHiew
aﬂﬂzﬁg” el T aref T g

Options:

1. % workbook address | deed U2d
2. % Worksheet address | gl 129
3. ¥ Cell address | 979 U129

4 % File name | WA &7 910

Question Number : 88 Question Id : 3354726918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which icon is used to check spelling in MS Word? | UAUE 92 § Gd-1 (JUie & e #0 & W0 540 & e amgdi &
JUIT TR AET 87

Options:

1_%
g_ﬁj
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_— Times New Roman =

M

4

Question Number : 89 Question Id : 3354726919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The purpose of firewall in cornputer is: | FHYIYET H BTAd16 ®T S - 5T &
Options:

1. % For security | T4 F & o7

2. % For monitoring | T @& & o

Z. % For authentication | STFEWHWE (e @ & oo

4 % For data cormrmunication | STET FHHae &t & o

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 90 Question Id : 3354726920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

is an example range in M5 Excel. | ______, THIE TFEH § 4 &7 7% JE1R0 )

Options:

1. % 41-E1
2 ¥ 41410
0% 41t0 AL0
4 % A41-410

Question Number : 91 Question Id : 3354726921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_____________ is an Internet browser released by Apple. | _____ TIUHA & GRT AT TF Sei-4e H7¢ gl
Options:

1. % Chrome | %17

2. ® Firefox | BIORETHT

3. ¥ Netscape | Jeedd

4 & Safari | T

Question Number : 92 Question Id : 3354726922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where are all the tabs (Home tab, Insert tab, etc) located in MS Word 20077 | UAUHE 92 2007 H, @41 3 (517 &4,
SIEE 2 ST el R B 87

Options:
1. ® Title bar | TTEeA A
2 % Status bar | GLTH AW

= ¥ Ribbon | T
Latest Sarkari Jobs, Govt Exam Results, m
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Question Number : 93 Question Id : 3354726923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AH _______ shares hardware, software and data among authorized user. | U#
ARG AT o & il 121 T gl

Options:

1. ¥ Network | "eadr

2. % 1P | amedl

3 % DNS | ST

4 ® CPU | €iRg

_____ ST Y, WIFEaaW 9207 ST2T

Question Number : 94 Question Id : 3354726924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The _________ key on the keyboard is used to erase anything typed on the left of the curser. | F-aI2 I
__________ T T IUANT T & 18 AT 150 Ty MY TegE 1 e T ST 81

Options:

1. % Caps Lock | 3d &1

2 ¥ Backspace | s@aud

3. ® Delete | 126lT

4. % Cursor Control | 6T #eid

Question Number : 95 Question Id : 3354726925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Microsoft word 2007, bulleted list is available in which dialog box? | AE®EMETE 92 2007 #, grics oHe
TR F1d B IO BT 37

Options:

1. ¥ Font | &7

2. % Styles | WEEeT

%, ¥ Paragraph | TRTmE

4. % Editing | gfERm

Question Number : 96 Question Id : 3354726926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Viruses, Trojan horses and worms are known: | G784, T4 519 T 910 #1 S6% 6T FE1 147 &
Options:

1. ¥ To harm computer systermn | ®HIEET [OHes @1 g1 Tg=r- § 958 51 &
2. % To be undetected if affected on computer | T FHIILT F1 GUHATIET L & 91 TGT FTT THT 51 517 31
3. % Aguser-friendly applications | WIgdT- 83 Uy €7 H 519 2

4 % Asharmiless applications resident on computer | FHYIET I g Jldl gN-igd Tqa(ad 51d 2

Question Number : 97 Question Id : 3354726927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
______ is a device that joins telecommunication links and groups of computers together. | _______T% fZamga g AT

Options:
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2 % Host | g/
% % Hypermedia | FTEATZAT

4 % packets | T

Question Number : 98 Question Id : 3354726928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The coding langi?g used to create docurments for use on the World Wide Web is: | IvS T15S del UL I @0 &
TolT ETFRHT 3R T3 B SEAHTA 1 AT aTeil BITSTT aitcle 1 &

Options:

1. ¥ HTML | U= ITATA
2. ® HSMT | taoarar

2. ® HLMT | Uagagmet
4 % all of the above | IS T

Question Number : 99 Question Id : 3354726929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In wrwrw. Google corn, wwnw stands for: | www Google.cormn B, www T % o7 wea g7

Options:

1. % web World Wide | o9 drg 982
2. ¥ Wworld Wide Web | gdg a158 oo
3. % Wide World Web | IEZ 9rg oF

4. % World Wide Weblinks | 96 J158 ddieigd

Question Number : 100 Question Id : 3354726930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5-Word, Thesaurus tool is used for: | THTE 92 H, SEWE & #7302

Options:

1.p ¥ Finding words with sirnilar meaning | FEHRT &g 9 T

2. % Finding words with opposite meaning | TauetT swf @ s&g Ja @70
Z. % Copying of the word | J&g &1 BT e

4. % Deleting of the word | e ® T2/
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